
Additional Problems Assignment 12

1. Write the following equation using inverse trig functions

(a) sin(θ) = 3
4 (Ans: θ = arcsin(34))

(b) tan(x) = −2

(c) cot(β) = 1
2

2. Find the principal vale of each of the following:

(a) arccos(
√
3
2 )

(b) arcsin(−1
2)

(c) arccos(−1
2)

3. Evaluate each of the following:

(a) sin(arcsin(−1
2))

(b) sin(arccos(−
√
3
2 ))

(c) sin(arccos(45))

(d) sin(arctan(2))

4. Evaluate each of the following:

(a) sin
(
arcsin( 5

13) + arcsin(45)
)

(b) sin
(
arcsin(12)− arccos(13)

)
(c) tan

(
2 arcsin(45)− arccos(1213)

)
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